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PHYSICS

01.

02.

03.

04.

If the magnitude of the gravitational force between two particle of masses m and 2m is F, that between
two 1dentical particles each of mass 2m and double the separation is

m ST 2m SRJAETAT & GETIHEE TScayol gard gRAT F ofd a¥ Tcddel 2m SgaHE & Thard
et UHHBHURA W SiaR1ay ddal STdl AT el fohel dd STdd.

a) 8F b) 4F c) F/2 d) F/4
The weight of a particle at the centre of the Earth is

gedTedl her Ml Saededl qareid aot ........... .

a) infinite b) Zero

a) b) 1=

c) Same as that at other places d) greater than at the poles

C) yeaial JeSHIEd aoi-Eds d) garadia aemTdET e

An Earth-like planet has a mass 6 times and radius twice that of the Earth. If the escape speed of a body
at rest on the Earth's surface is v, that from the planet is

JATRET Ul T dEgHM Yedredl aagaereal 6 Ue ST Bedn yediear Bioten gue o, ediasy qerdfa
[oFaT 9 v, A T AT TEEHA al ... T

a) \2v, b) \3v, c) 2 v, d) 3 v,

r
A satellite is an orbit of radius r has a period T. In an orbit of radius 1 its period of revolution will be

er%@wﬁaﬁmwuﬁmew%.maﬁmi%@wmaﬁﬂﬁmmw
Taa Hle fhal e

1 1
a) T b) o T o) =T d) —T
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05.

06.

07.

08.

09.

If a packet 1s released from a balloon ascending vertically with a speed of 20 m/s. The packet reaches
the ground in 16 seconds, then the height of the balloon at the time the packet was released.

[g=10 m/s?]

20 HieZ/d%g I a¥ AT A Uh Uohe JISd 3e. TR Ybe 19 Tdhard e dierdd S, a¥ e
AT dof HHEmdl AFHIEA Sdi ol & 2 [g = 10 m/s?]

a) 960 m b) 480 m c) 320 m d) 1600 m

You are given four bulbs of 25 W, 40 W, 60 W and 100 W of power, all operating at 230 V. Which of
them has the lowest resistance ?

geeter 25 W, 40 W, 60 W enfer 100 W iR O aed oot ergH, a4 aed 230 V @ ®Evd ofed. a¥ !
HIUTHT Fedal AL FaAT HH STEA P

a) 25 W b) 40 W c) 60 W d) 100 W

The heating element connected to 230 V draws a current of 5 A, the amount of heat dissipated in 1 hour
is [J =4.2 J/cal]

SUTAT FHIT B0 U YRR 230 Vot Sise odr, & IUshongy SA o 9rT 1 aF ared. a@ e
el IUTd JHTT el ?

a) 985.7 kcal b) 9.857 kcal c) 98.57 kcal d) 9857 kcal

The induced current in the electrical conductor (coil) be maximum, when the direction of motion of the
electric conductor is ..........

[ aresmeyd (Fed) ARG (R JaE S SR aievarEre! dedrel TdEl Q9 ... TETEl AT
a) 0° b) 90° c) 30° d) 60°

The rule for finding out the direction of the magnetic field produced by a current flowing through an
electrical conductoris ............

R aEHMd AR [Jgd YaeMe aeerqEdl FH ST ek SArEl G enEuaEr FEE L

a) Maxwell’s cork - screw rule b) Flemings left hand rule

a) Hedardl &b - T Fad b) wifTar e e e Haw
c¢) Flemings right hand rule d) Left hand thumb rule

C) TRl 97T EEl HEH d) Eren e sreETar Had

Space for Rough work
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10.

11.

12.

13.

14.

15.

In India, in the power stations generating electricity, the frequency of AC 1s

aRad, da MR som=n @i deme @R &= (AC) fOgd gndr arardar fedr s,
a) 25 Hz b) 100 Hz c) S0 Hz d) 75 Hz
A glass bottle completely filled with water cracks when kept in the freezer because

I qUigUl HRael dradl areal Sfid waTed (WieR) Sadl ST fddl a2 Sdd &R ...

a) the bottle remains as it is b) the bottle expands

a) aredr ALl IEd b) ared TRl gred

c) Water expands on freezing d) water contracts on freezing

C) TMeEE? il FHROT rad d) TeeER qmlt afghEd arad
Specific heat capacity is expressed in

fafoTe SRS ........... T Uhehed Had el AT

a) J/kg °C b) J/kg c) kg/J d) kg/J °C

The heat energy is necersary to raise the temperature of 10 kg of water from 20°C to 100°C is .........
(Given : Specific Heat of water is 1 cal/g°C)

10 et gmoard aAE 20°C 9 100°C 93 aeduad el .......... SOl STTa9Thdl 3THd .

(ararEr faiere 3o = 1 cal/g°C)

a) 400 kcal b) 200 kcal c) 80 kcal d) 800 kcal

At 4°C, the volume and density of water is ..........

4°C dIOHMEE 9rodTe SBRAT ST ST ... T o .

a) minimum, maximum b) maximum, minimum c¢) minimum, same d) both remains same
a) T, T b) FAE, fpAe ¢) e, @R d) a1 @R wEd

The specific latent heat of varporization of water is 2.26 x 10° J/kg, the energy needed to change 5.0 g
of water into steam at 100°C.

QU AT e 3o 2.26 % 106 J/kg &2, a7 5.0 g qroare 100°C araH et ahd S9id? e vaTErs!
fohdl IWTAT @I ?
a) 1.13x 103 J b) 11.3 x 10°J ) 113 x 10°J d) 113 x 10*J

Space for Rough work
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16.

17.

18.

19.

The refractive index of water relative to air is 4/3. A ray of light passing from water into air is incident
at the interface at an angle of 35° to the normal. The angle made by refracted ray with the normal is

TAAT AU YIOATET SacHis 4/3 3TE. U YeRISNehevl Saqe Uvard AT FirHeel 35° SUral & &edl,
Auafcd ROl EAfehel halell &M fohdl ?

a) sin”! (0.7648) b) sin! (7.648) ¢) sin”! (0.6748) d) sin! (0.8764)

The following figure shows the path of a ray of light as it passes from air into a liquid. The refractive
index of the liquid is

TGS SATd SATOTAT HepTQIfeh Tl AT SThdid SacaMIel SR, a¥ Sardl ST9dd-is bl S8 ?

30° /

NG 5

3 2
Y3 Ry RN Vo
The absolute refractive index of flint glass is 5/3 and that of water is 4/3. The refractive index of flint
glass with respect to water is ..........

fUhefehe hTaT STIUT TTuamal FRYeT ofuad-ies oTgehH 5/3 Tt 4/3 orar oe, a¥ fhahe ®radn gmogredl dmde
AIecHIh fohel oTHa ?

4 12 20 5
a) 5 b) s c) 9 d) 1
A ray of light is incident at an angle of 50° with the surface of glass of refractive index 1.5, the deviation
of the ray when it enters glass is (Given sin™' (0.4285) =25°22" & sin 40° = (0.6428)
1.5 39acHie Tacl Hrae JSHNTER Ush Fehl9TeheoT geoarmelt 50° &M &5 el STe, a¥ Fehl9Tiehaundr
e [qaad & bl orHa ?
a) 34°38’ b) 14°38’ c) 4°38° d) 8°38°

Space for Rough work
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20.

21.

22.

23.

24.

The critical angle for Zircon (n = 2), placed in air.

zdd gl BR&M (n = 2) a1 ggrAiarel e & fhdr ?

a) 60° b) 90° c) 30° d) 45°

A concave lens of focal length 15 cm forms an image 10 cm from the lens. How far is the object placed
from the lens ?

15 a6 9141 Sy Seeied] AaRash PR 10 #90 Sdier. Ul aegal 9fodT dar Eld, a¥ R o
fehcll SRR Saedl AT ?
a) 30 cm b) 10 cm c) 20 cm d) 15 cm

Two thin lenses of powers +3.5 D and —2.5 D are placed in contact. The power and focal length of the
lens combination are

g ude FmEr BT gt o +3.5 D oot —2.5 D oe. ot T UeHeIe T e Sadl STHal ordr
T BT 9Tt g AU SR fhdr ?
a)+1D,1cm b) -1 D, I m c)-1D,1cm d) +1 D, Im

If an object 5 cm high is held 25 cm away from a converging lens of focal length 10 cm, then the size
and the nature of the image formed is

RS T HE SEURT UH aeg 10 SHr AT SR STEwed] diedskh RO 25 HH SaRTeY Saal e, a¥
TR BT AicHdl Sl S =%y e 6 !

a) 3.34 cm, inverted b) 4.33 cm, inverted c¢) 3.43 cm, inverted d) 3.34 erect.
a) 3.34 cm, 3Ie b) 4.33 cm, Iee c) 3.43 cm, Icae d) 3.34 gae
Optical instruments, in general, extend our range of vision by .........

.......... o TeRINT IURIT, TIATIRUI U] e R fay dreddid.

a) making the incident rays subtend a smaller angle at the eye

a) STl [0l SiediaEad @eM $iF daR b

b) making the incident rays subtend a larger angle at the eye

b) afurt [T SlEdrEEd AT B TR dHed

c¢) producing an inverted image

C) IS Ul 0T e

d) correcting our defects of vision

d) U@ gidE 3 YR e

Space for Rough work
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25.

26.

27.

28.

29.

30.

The R.1. of glass with respect to water is 9/8. The speed of light in water is 2.25 x 10® m/s, its speed in
glass will be

BTl qTogTAT {UeT STad-ih 9/8 SR, WehIImET qrudtarid a9 2.25 x 108 m/s e, d¥ dwraHed FeRiemEr an
fepart ?

a) 3 x 108 m/s b) 2 x 10®* m/s c) 1.8 x 108 m/s d) 1 x 108 m/s
As we move from the equator of the Earth to the poles, the weight of a body

TR ST gedte fayagdiegd gaths od 37 a¥ SMUe aut .......... z.

a) remains the same b) becomes zero c) decreases d) increases
a) HFT e b) =1 ¢) g d) aed

The ratio of periods of revolution of two satellites is 8 : 1. The ratio of their critical orbital speeds is
T SUYETAT URaE Hierd PR 8 ¢ 1 o, a¥ e fafdte ®eld T Ui [l o ?

a)l:8 b)1:4 c)l:2 d2:1

The distance between the centres of the Earth and Moon is 60 R, where R, = 6400 km is the radius of
the Earth. Taking g = 10 m/s?, the approximate orbital speed of the Moon is

et ST =g geeier 3 60R (R, = 6400 km) &=, ¥ g = 10 m/s” Hefed @7 daTl el Tl STe@ud ...
T ?

a) 1 km/s b) 4 km/s c) 8 km/s d) 11.2 km/s

The kinetic energy of an artificial satellite of mass 2000 kg orbiting at a height of 3600 km above the
surface of the earth is ..........

g 3600 km Sdier fRa steer 2000 kg a&qAmme $EH SUNEE! e Soll ... .
a) 8.002 x 10'° J b) 4.002 x 108 J ¢) 4.002 x 10'° J d) 8.002 x 108 J

The distances of two planets from the Sun are 10" m and 10'* m, respectively. The ratio of the time
periods and orbital speeds of the two planets are

TAMEA & T2 S g 10° m g 102 m ofE, @@ &1 3 T8l 9Rde Hierd TUir (ol oTad.

2 3

a) 103 b) 103 c) 102 d) 102

Space for Rough work
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CHEMISTRY

31.

32.

33.

34.

35.

The reaction in which two compounds exchanges their ions to form two different compounds is known
as

ST MRS &9 T AT STl SaruTeanT &6+ &M e 87 daR ®Iard ol Tkl =UE Sd TR,

a) Displacement Reaction b) Reduction reaction

a) o gfcfean b) g2 Afcichar

c¢) Substitution reaction d) Double displacement reaction
¢) e afcifshan d) 3&3r e wicifesan

The process of coating iron with zinc is called as

a) Reduction b) Galvanisation c) electroplating d) Polishing
a) REF™ b) TeaTH=I9H C) T d) affertamT
Oxidation reaction involves

SISy IfafhaT HITHeEd THIIE 3TTE.

a) Decrease in the valence of positive part b) Increase in the valence of negative part
a) HEHRIHS WA FANI 5 b) FUT AT HANIT A6

c¢) Gain of electrons d) Loss of electrons

C) FAFAAT ATE d) s TR

Which of the following is a combustion reaction ?
QT BT STad dfdfhar 3 ?

a) Rusting of iron b) Melting of iron c¢) Burning of petrol d) Boiling of water
a) @E TS b) @rEs fadeo C) UZid STl d) qroft Seher
Which of the following metal is protected by the formation of a layer of its oxide ?

QrAlcdenl BT T TTARA TR B0 SieTEsen dRHe @iad &dl.

a) Au b) Al c) Cu d) Fe

Space for Rough work
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36.

37.

38.

39.

40.

41.

42.

Removal of impurities from ore is known as

SR STl BHISUATAT Uikl &1 FEUTdId.

a) Calcination b) Roasting c¢) Crushing and grinding d) Concentration of ore
a) Hica-s™ b) et C) THISTT ST AT d) grqe T
Which one of the following metal is found in liquid state at room temperature ?
TIAIAUD! BT €T Bl dOHH 59 STadd sfesal !

a) Fe b) Na c) Cr d) Hg
Which one of the following metal oxides shows both acidic and basic characters ?
Tl HIOTT GTqaT ATFEE AT ST Jayd &+l auf gsfaar ?

a) ALO, b) CuO ¢) Na O d) KO
The d-block elements are placed from groups

AEd AR Sl-adleh geh™ed B T2 ddd Aed ?

a) 13to 18 b) 4 to 12 c)3to 12 d) 1to?2
Which element is more electronegative among halogens ?

EANTTHE BT g2k ATYH TdgHilee e ?

a) Cl b) F c) Br d) I
Which of the following element has the smallest atomic size ?

Grelleden! U] Heahral 3] SR Taid @e ofE 7

a) Ar b) Si c) Cl d) Na
The total number of elements present in the 6 period is ........

AEd ARV el HIAEaeTed THUT bl g2 3ed ?

a) 32 b) 36 c) 18 d) 14

Space for Rough work
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43.

44,

45.

46.

47.

)

IUPAC name of the compound CH, — (lj — CH, — CHO (=1 s)g7mat IUPAC 9@ & 2R )

CH,
a) 3, 3 —dimethyl butanal b) 1, I —dimethyl butanal
a) 3, 3 — SAWIRA FAT b) 1, 1 — SAMAEA SFATd
c) 2,2 —dimethyl butanal d) 3, 3, 3 —dimethyl propanal
C) 2, 2 — SHAMIRA FATd d) 3, 3, 3 — MR TUATE

Oils on treating with hydrogen in the presence of palladium or nickel catalyst forms fats. This is an

example of

Uaitead fhal Fehel SORGAT UM EEENEE TR hedlay qadrgd aedl dar &ld. o1 thad &

FUTATd.
a) Substitution b) Oxidation c¢) Displacement
a) eI b) stz ¢) fareemu

Which of the following compounds cannot exhibit chain isomerism ?

GreAladen! BT TYT AT STIHMREH UGl &% 9hd ARl ?

a) Propane b) Pentane c) Hexane
a) ard= b) 7eq C) TFIT
Which of the following is not a saturated hydrocarbon ?

GrAAY®T BT Hged eaghEd ARl ?

a) Butane b) Cyclohexane c) Isobutane
a) Feq b) ATFAR FA C) SIESH

The type of medicine used to treat acidity in stomachis ........
UieTdie ATAdEY U HUaTS] HIoTedl ALl aY el STl
a) Antibiotic b) Antacid c) Antihistamine
a) ufcifas b) e ¢) SreiferemEa

d) Addition
d) s

d) Butane

d) =29

d) Benzene

d) dEm

d) Sulpha drug
d) T sy

Space for Rough work
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48.

49.

50.

51.

52.

53.

The acid used as dehydrating agent is

ST Usfe WUH aroRd S UGS SIS

a) HSO, b) HBr c) HI d) HNO,

If pH of solution is 13, it means thatitis ........

R sTaumar pH 13 o/d 3, T ot S/ &l & o ...

a) Strongly acidic b) Weakly acidic c) Strongly basic d) Weakly basic
a) ARER S b) HAFad I C) ARER Haaed d) Fagad gegd
Limestone, chalk and marble are different forms of ........

a) Sodium carbonate b) Zinc carbonate

a) AIfETq HEMS b) & @rEFe

¢) Sodium hydrogen carbonate d) Calcium carbonate

¢) Aifzaw TEEH ®rEe d) Hf@Em FEHe

The acid used for washing eyes is.............

Siey YUATETS! aRe SR U .o e

a) Boric acid b) Carbonic acid c) Acetic acid d) Oxalic acid
a) A% THE b) FEit® tRHE c) Uil Uits d) st e

Basic salts are formed by neutralisation of

BT TZHTAT TEIHIE JAqd A0 TR B,

a) Strong acid and strong base b) Weak acid and weak base

a) eI STl AT Ao o b) FHgE SR ST BHPed T
c) Strong base and weak acid d) Strong acid and weak base

C) A d9 SAMT FHHGA T d) "eTgd T ST Aged 99

The reaction 2C,H;OH + 2Na — 2C,H;ONa + H, suggest that ethanol is .........
2C,H OH + 2Na — 2C,H,ONa + H, =1 wfdishmed zeqa & o E gaad.

a) Neutral in nature b) Acidic in nature c) Basic in nature d) Amphoteric in nature

a) TR b) em=ia C) Tkt d) TR

Space for Rough work
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54.

55.

56.

57.

58.

Ethanol is oxidised with alkaline KMnO, to give
goierd &g KMnO, qe SAiferTeieniol shed SR Hicisha=esl g Head.

a) Ethanoic acid b) Methanoic acid c¢) Propanoic acid d) n— Butyric acid
a) gIHIEE TR b) MaHzE R I EIEEIECARULES d) =ie die
5f series elements are known as

ad ARvidE ST ATier v 926 BUH SeEd .

a) Actinides b) Lanthanides

a) Ufderzgd b) warEEd

c) Representative elements d) Transition elements
C) HeBHUT HEH d) ufae mew

Which of the following elements has maximum metallic character ?

TIAITUD! BT JASAME T 92k ARd o 7

a) P b) N c) Li d) Na

Copper on exposure to air reacts with moisture and CO, to form a green layer on the surface which is
chemically.

ERAT HUhia AR did siferar offor CO, a¥ Wicihdl &dl, S JRoHNER Rl 9 Hlqe qar Eldl.

a) Copper sulphate b) Copper nitrate
a) B Tehe b) HMR AL

c) Basic copper carbonate d) Copper chloride
c) dffeh B B d) B FIRES

Which of the following are exothermic processes ?

QeI BT UFATmd qihal ed ?

i) Reaction of water with quick lime (urvart @ gt wfdferan)

ii) Dilution of an acid (3T UTde %)

iii) Evaporation of water (4oama arodiHa)

iv) Sublimation of camphor (HMYZd IFIEHIT)

a) (i) & (ii) b) (ii) & (i) ¢) (i) & (iv) d) (iii) & (iv)

Space for Rough work
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59. The products formed when zinc reacts with steam are
SR aTEdl [hAT dhell ST Ulshdd HE JIR B,
a) ZnH, & O, b) ZnO & H, ¢) ZnO, & O, d) ZnO,+H,

60.

IUPAC name of CH3 —-CO- CH3
CH, — CO — CH, @ IUPAC 719 &/ 2.

a) Propane b) Acetone c) Propanone

a) = b) st ¢) gIg=I

d) Ethanal
d) g«

Space for Rough work
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MATHEMATICS
61. 4/81-83216+15¥32 +~/225 =
a) 0 b) 1 c) 2 d 4
62. Solve for x and y. (x nfer y @S GrEan)
ax+by=a->
bx—ay=a+b
a) x=1,y=1 b) x=-1,y=1 c) x=1,y=-1 d x=-1,y=-1
L .\ 1 . 1
63. Simplify - ) rr 2)x+3) | (x+3)x+])
1 N 1 N 1
B 05 2) re2) e d) (i3]
_ 2z 3 3
) rDx+3) b ihx+3) ) +)(x+3) D D3
3_3,2
64. Simplify ~——
Ox° —x
3_3,2
A BT T g
Ox° —x
1 1 1 1
9 3 b 3 ) 33 .
65. How many two digit numbers are divisible by 3 ?
fohcll 3 ofpl T 3 |IT Adr ?
a) 9 b) 10 c) 29 d) 30

Space for Rough work
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66.

67.

68.

69.

Two concentric circles have their areas in the ratio 4 : 9 and the radius of the inner circle is 7 cm.
The diameter of the outer circle is

I Hha! dqord @9%e 4 @ 9 AT FHIONT SRd ST SATdid dgerdl Hedl 7 JHl e, J'd aqardl M ...
3.

a) 2l cm b) 10.5cm c) 42cm d) 84cm

a) 21 g b) 10.5 == c) 42 g d) 84 ==

The tops of two poles of height 16 meters and 10 meters are connected by a wire of length /
meters. If the wire makes an angle of 30° with the horizontal, then / =

16 ez anfor 10 Hiex Idren a9 @ §id, [ ey didren aeRe AEad oed. X arRd dfdeee 30° 4
B Bl A, T [ =

a) 10 meters b) 12 meters c) 16 meters d) 26 meters

a) 10 #rx b) 12 Hr® c) 164 d) 26 Hrz

If x = a, y = b is the solution of the system of equations x —y =2, x + y =4, then
Wx=a,y=b&x—y=2,x+y=4 71 g0 T Ihel A&, T

a) a=1,b=-3 b) a=3,b=1 c) a=5b=3 d a=3,b=5

In the figure, if AB =8 cm and PE =3 cm then AE =

Mpaed, W AB = 8 cm oot PE =3 cm, @¥ AE =

a) 1lcm b) 7cm c) Scm d) 3cm

Space for Rough work
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70.

71.

72.

In figure, PO and PR are the tangents drawn from P to a circle with centre O. If ZOPQ =35° then
amgpamed, PO onftt PR &1 P a%4 O %3 T8 daldl Hieded] TS ed. J LOPQ =35°, @

a) a=30°b=60° b) a=35°,b=55° ¢c) a=40°b=50° d) a=45° b=45°
If the perimeter of a rectangle is 24 units and the length exceeds the breadth by 4 units, then the
area of the rectangle is

S Uehl AT AR 24 Teheh STE AT el €1 SaiUer 4 ThehlHl S S8, T A 8% ... e
a) 16 sq. units b) 25sq. units c) 30sq. units d) 32sq. units

In figure, APB is a tangent to a circle with centre O at point P. If ZQPB =50°, then the measure of
ZPOQ is

agpame, APB €t ws O seele aqerl P fagear sl wisen o, SR LQPB =50°, @ ZPOQ ° "M

a) 100° b)  120° c) 140° d) 150°

Space for Rough work
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73.

74.

75.

76.

77.

If an integer when added to its square equals 182, then the negative integer is

TR TEET Ul AT g Seea) 182 @ aRiay of|d dX X QUi ... 3T

a) -—13 b) -14 c) -15 d -16

In the figure, CP and CQ are tangent to a circle with centre O. ARB is another tangent touching the
circle at R. If CP=11 cm and BC =7 cm then what is the length of BR ?

sgpame, CP et CQ &1 %8 O el aqeral Wi ed. ARB & & ageial R a¥ Tef &omsr
T Uk @isTeRT e, S CP = 11 cm anfr BC = 7 c¢cm, a¥ BR o1 @it fhdt ame ?

a) 2cm b) 4cm c) 6cm d) 8cm

The product two consecutive positive integers is 306, then the numbers are

AT & g9 quiicral TR 306 ofE, aX &1 J& ... e,

a) 16,17 b) 17,18 c) 18,19 d 19,20

If x = 1 is a common root of the equations ax? + ax + 3 =0 and x> + x + b = 0, then ab =
Wx=1eax’+ax+3=0ar x>+ x+b=0 7 qEE TF THE G5 30 X ab =
a) 3.5 b) -3 c) 3 d 6

If the point (1, 1) is equidistant from the points (a + b, b — a) and (a — b, a + b), then

X g (1, 1) & (a + b, b — a) 37 (a — b, a + b) =1 [AgUEA TN FRER 3T, T

a) a+tb=0 b) a+b=1 c) a=b d a-b=1
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78.

79.

80.

81.

82.

83.

The distance between the points P(y/5 +1,+/3 -1) and O(+/5-2,+/3 +2) is
P(5+1,4/3 1) &M O(\/5-2,4/3 +2) Togeie &f¥ ......... .

a) 342 units b) 42 units ¢) 35 units d) 26 units
If sec O + tan O = a, then the value of sec 8 —tan O is
¥ secO+tan O =q, ¥ sec O — tan O ot fhmed .......... 1.
2 ! !
a) a b) - c) pel d) a

What is the value of (1 +tan 4 +sec 4) (1 + cot 4 —cosec 4) ?

(1 +tan 4 +sec A) (1 + cot A — cosec A) dr fohaa fehelt 312

a) 1 b) 0 c) 2 d -1

The angle of elevation of a tower at a point d meters away from its base is 30°. If the tower is 20
meters high, then d is equal to

FEATAT UIATIRA d Hie? FRIaR SEaed fagar 39d & 30° 8. SR g5 20 #ie¥ 3g 3fd, @ d TR

20
a) 103 m b) 2043 m ) [ d 10m

The angle of elevation of the Sun, when the shadow of a pole is /3 times its height is

S TEmEdl EiErEl dEdl GreAl Sdrel 3 U2 3T, del g 39d B ... 3.
a)  60° b) 30° c) 45° d) 15°

If the system of equations 2x + 3y =7 and (a + b) x + (2a — b) y = 21 has infinite number of
solutions, then

TR 2x + 3y =7 &M (a + b) x + (2a — b) y = 21 AT AHHIUTAT TOIArAT 3T Sl ST, a¥
a) a=-1,b=5 b) a=1,b=5 c) a=5>b=-1 d a=50>b=1

Space for Rough work
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84.

85.

86.

87.

88.

The pair of linear equations y =0 and y =— 5 has

y=03y=—537 WT qHHTA A

a) no solution b) one solution

a) SHA THA b) UH B A

c) two solutions d) infinitely many solutions
c) &M THAl T d) oE=T IHall A

Ifa?+b2+c*2=250and ab+bc+ca=3,thena+b+c=
Wat+b2+c?=250aab+bc+tca=3,Wa+b+c=
a) -16 b) 14 c) 15 d 16

)

g e ()

&
TN
| W
N—
N
o3
N
TN
| W
N—
(W]
¢

If /2248 =22 thenx=
S 2248 =g, Wx =

a) 1 b) 2 ¢) 2.5 d 5

If x:7+4\/§, then x2+L2:
X

TR x=T+43, @ x2+%:
x

a) 196 b) 195 ¢) 194 d) 193

Space for Rough work
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89.

90.

91.

92.

If two isosceles triangles have equal angles and their areas are in the ratio 16 : 25, then the ratio of
their corresponding heights is

SR TGS [l HHM B S AT A @F%e 16 0 25 A1 YHIO S, a8 e Heted

a) 3:2 b) 4:5 c) 5:4 d 5:7
Ifin AABC and A DEF, AB _BC then A ABC ~ A DEF wh
n an > DE_FD’ en ~ when
AB BC .
HTAABCHADEFW,E—E,FF{AABC~ADEF@@T .........
a)  /A=/D b)  s4=sF ¢) J/B=/E d) sB=sD

InAABC,AB=3cm, BC=2cmand AC=2.5cm. If AABC ~ A DEF and EF =4 cm, then the
perimeter of A DEF ' is

AABCHex, AB=3cm, BC=2 cmamr AC =2.5 cm. W A ABC ~ A DEF anftt EF =4 ¢cm, @@ A DEF

a) 30cm b) 15cm c) 22.5cm d) 7.5cm

In below figure, if DE| |BA, then x =

Wl gdme, S8 DE||BA, T x =

d 10

Space for Rough work
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93. Inbelow figure, PT is a tangent to the circle at P and OR is a diameter of the circle, if ZRPT =50°,
then ZQRP =
gl enpamed, PT & P a¥ aderdl @idier e onfer QR &1 adal & e, ) /RPT =50°, @
ZORP =

a)  90° b)  60° c) 50° d)  40°

94. In below figure, the radius of the circle is

a) 3cm b) 6cm c) 4.5cm d) 9cm
95. The distance between the points (a cos 25°, 0) and (0, a cos 65°) is

(a cos 25°, 0) a1 (0, a cos 65°) a1 AL HA .......... S IER

a) 4a b) 3a c) 2a d) a

96. Which of the following number cannot represent a probability ?
Qreicdenl HIUAT T Tl 39 gTehd Rl ?

2 15 7
a) 3 b) 100 c) 10 d)

N | W

Space for Rough work
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97.

98.

99.

100.

The probability that a number selected at random from the numbers 1, 2, 3, ........ 15 is a multiple
of 4, 1s
1,2,3, ........ 15 a1 =AMys Agfasdqul Magddl e 4 21 9 SEuvardl 9l ... A
1 oL 2 P
93 )3 AT ) 15
2+\/§

If a and b are rational numbers and N =a+bv3, then (a+b)*=

SR a ST b aR¥T HE&r ed 9 ziﬁzwb\@, W (a + b)? =

a) 116 by 171 o) 121 d 198
If7 sin? 0 + 3 cos? O =4, then tan 6 =

¥ 7sin20+3cos?0=4, atan O =

1 2

RN Y b 5 c) 3 d 1

The mean of first » odd natural numbers is

d —

|

Space for Rough work
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